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Answer the following Questions: s AGY) Wi e ol

n Choose one question of (A) or (B), Replace |  :03 (0) of (1) (ndfgudt di yi50 =)
sentence with a suitable scientific term: 1 ole JIA elal! pllaaal! LIS
a- Adding water to the mineral composition | s aer oS 1 Y] slad | abls| i
that cause chemical weathering.
b- Spits at the bays area and it may close
them to form a semiclosed marine area in
the form of a lake.

16 3o &39S0 Ottt e windl -~
B s IS e Blie 4t Ll

nChoose one questions of (A) or (B) and | :(<) o (1) oot dsi i) - Y

compare between: 1O LB
a- Renewable resources, and non-renewable | ssasicll p& slgalls3imiall 35 gatl |
resources in terms of definition & examples. Legia JSI Jliag gl l Cam (po

b- Grazing in area of weeds and grazing .in oo M yolae ¥ Eblie L3 e M1 -0
area of shrut?s and trees. In terms of its StV y Slpumiid| Bolie 3
effect on environment. A e AT G oy
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n Mention the environmental factors that S0 Y
supported the flourishing of the plant | jlasy 31 sl Sidt ddedt cag tat
cover during Carboniferous period. What | . 35,531 juaatt 8 Lot el
are the resulted economic deposits that | ag il walaid3 ¥ ceulg 3l Loy

resulted under these conditions? Selts e
n What is the importance of: 1 dredi Lo -
Water moving upward (upward currents) e baalt dladt ol Lat)

BWhat 1s the age estimate of rocks contain a | gg=3 1 Hgsall ,oc Le-0
fossil of an oldest bird? Sl ALBY Ay pas

v/ U.JLIJI JoaJl - d=alpoldulinl) A A auj
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n Choose the correct answer: s 3 =
All these crystals have perpendicular axes |saslaie Lajglme OfHgld! sia JS
except the crystal of the ......... system | ... Alal 5,9l fiac e Lifg 3
@ Tetragonal AN @
@ Orthorhombic L@SLAN et @
(©  Cubic st @
@ Triclinic NEPO . L VL @

n What would happen when? rie Cidomy 1310 -V
Mica subjects to breaking or pressure. daiiall gl yuSUY ISial| Gtne (4 pas

ﬂ Justify: b Let e -A

Rhyolite differs from granite in spite of their | pé; cooimmtt e cod o1 1 atisn
similarity in mineral composition. caad | Lo )3 aulad
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n “Marine fish live at 120 m depth”.
Based on this information, answer the
following questions:

a- Calculate the pressure which the fish
exposed to.

b- What are the producers that could be found
with it at his depth?

Gee lo (ol Ao ASew) -4
sy \ Y

L AGY AW (e ol §ylialtl 008 ¢ g (o8

el | 4Y 4 pai (52| dakial | s -]

O e A1 Aniieal | SLSISH Lo —c

§Geall a2 lgao 1 195G

m Choose one question of (A) or (B),
Replace the statement with suitable
scientific term:

a- Geologic time at which continents achieved
their present positions.

b- Tectonic movement responsible for the
formation of transform faults.

1@ (@) 9f (1) Cut3uadt i pi3nt =\ 0

1sle J1A Galal! mllamal| LGS

4l OHEN Sasl oo gl g (pe)
Al gl g

leie Lo zIt¥1 209385 48 0
CAJLED) ¢ giio
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m Choose one question of (A) or (B) :
Choose the correct answer :

a- Sedimentary succession of paralled layers
divided into two parts by an erosional
surface. This is called

disconformity.
normal fault.
anticlinal fold.

angular unconformity.

b- Convection currents are abundant in

........

inner core.
upper part of the mantle.

@
®
@ outer core.
@

Earth’s crust.

m Choose one question of (A) or (B) and
define it:
a- Zooplankton.
b- Biosphere.

(g5l ) BAUL) ) gty Lo 8 g - el v a0 01 oS Bl i

1@ (@) 9f (1) Cut 3t | p25n0 -1
+ dovouall Ayl o

(L §a2m0 1 puu ) galiS (B Cikan g 13
Leglads (psiilin spinall (a
........ s S T 318 Ty el
RSURIE AP ()
wlkeae ©

$sh3ispse ()

& Jemtl Slalgs ,adds -0

ostiean (D
ZLash e satatisimtt Q)
RGTRIITIN ©)

Ao ¥aat (3)

(@) 91 (1) oot guadt | pisnf -\ Y
1 e @3

LA gt ) Siladilgd ) -

(S gt AMAY o
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mWhat is the importance of ........ ?
a- biogas.
b- Feldspar.

(ko1 B400L) At pptally s o nd - nlad | i i 0o L3 Bl Do

2
1(v0 S Aradl HSB) -\ ¥
Sl gt -
bl o

m Compare between:

1o (L8 -\ €

Luster
G219

Play of color
O o 50

Definition

g pald) |

Example

»1:.“ ,,,,,,,,,,,,,,
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E (Rhyolite — laminated mud) Two | (oaaal (dalt - Sedsal 1) -V 0
different rocks: mention: s Olatine Ol yue

a- properties of Rhyolite. St g1 o Slaws eal Lo |

b- How does the laminated mud (shale) form? | omisial |yl s (35S S -

m What would happen when? s e Gty 130e =\
Coral reefs grow near the shores. ol G o 5 8 Al pad| ladid | g
m Explain: ¢ i =\

Seawater keeps its characteristics unchanged @l 5 dilaay s iios 1o I ele Jlay
in spite of the organic wastes exerted by lem i ol Zrgiaall GSLAAT
marine organisms. ) )

A (el | OLSIST

v/ U.JLIJI JoaJl - d=alpoldulinl) A A anj
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m Study the given figure then answer the | Lee cori @3 T JSEIH (sl -V A

following questions: , an
% 1—1
a- What is the name of this feature? : REPCet (R RVNPUR PR
b- In which stage is it formed? IEEWPU PRVt ¢ TP IS

c- What is the shape of river sector in that e plad oisly g Ysid i Le ¢
stage? LFIESOR PRV -

d- Mention one reason of river rejuvenation? S b Gl asl ,850 -

CV/ 017 il gl - s alpol) & lin) EA nj
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mChoose a question of (A) or (B) and | :e2 (<) oi (i) ndfiudt dsi yis -1 4
mention the similarities and differences | (@MY ds gig ALt da oi LCSI
between:

a- Pumice & obsidian.
b- Breccias & conglomerate.

NC{ENVIPE (Pypor PUmL (B
A e gl 98T g Ldis » )~

m Explain briefly: WPAENEYRC- T8 B
The destructive action of rain. Slae™ L engt! Jeall

10
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m“The temperature of lakes surface water | sLes ;2 3, 31 23393 Calie, - ¥

changes according to the season”
discuss this sentence.

((p-w}d‘ d)ﬂ:’-b Qb._f:q.ﬁ.!‘
.3)\.‘4.1." ol sy

mChoose one question of (A) or (B) and
replace the sentence with suitable
scientific term:

a- Killing or hunting a group of animals to the
limit they become few and become unable
to reproduce.

b- Energy-producing natural matter formed
in Earth million years ago, and what used
from it cannot be compensated.

1@ (@) 91 (1) Cnltouad ) i p500 =YY

s ole JI palat) pellasaqtt ,S3)

A1 gn (ya e gone s gl S35 -
It ALul3 Laalac] 4dd periad G2 ol
S 5l sl e 5yl g

0 983 Jlaia S ALIE dacds 5ale 0
Gudte die ayY1 bl B
o 9as ¥ Lgis illgians Lo g (pciaad

11
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mStudy the figure and answer thel‘;,c%i‘ag:wws.mw,n-w
questions: P AGY Al

a- Write the names of the structures (1) & (2) | Ot S ol S
: (7)) (V) e ot guad!

b- What is the type of unconformity? why? | .l | sud §3815 1 ane ¢ 53 Lo -

mWrite the name of mineral based on the | Js le J1at Huaedt pwl CGSY - Y ¢

mentioned property. | Ol 50 sl (pe B yle
. ol . M
a- Salty taste. _ -le Blite 4T (e |
b- Good basal cleavage. s gueld pladil al Guas -0

12
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ﬂJustify: b Lt Je -Yo
Accumulation of economic phosphate deposits | w,sLaia ¥ cliw sal! culs) @S1,3
in Egypt during the upper Cretaceous time. (S glall 5 pisLdall yenall 2

ﬂ What are the results of: 1 ole A piedl AL Lo - Y

Presenpe of tension force between tWO | .\ i sl (o i S 93 352 9
tectonic plates.

ﬂChoose The correct answer: s Avoual) Wl W Sl -V
Among geological effect of ground water: o> 8T gt | Jaill altae eal (ye
........ O30 955 Ay ¥ olealt

@ Water falls. olead dadlice @
(®  Oxbow lakes. A sal Sl (D
@ Stalactite, stalagmites .aclgually dayfggl! @
@ scratches. P RPESBN PR PWEN | @

13
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ﬂChoose one question of (A) or (B) and
mention:
a- The reasons of overhunting animals.
b- The bad effects of urban spreading, and
how to face it.

1o Las Jadd S g (oo ol = YA

Sl accatiolecdd oS30
A podlg A pd ) Sl gl

PG S DIPR {PUIL. ¢ JR S Y
S A 9o Jilugg i el

mReplace the following statement with
suitable scientific term:
Period in which the activity of the night
animals is reduced.

 olal pellaiael) IS - Y4
S gt ol Lgcd J3 35,08
A

14
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m Study the figure (soil profile) then answer | ¢ltad, zsgs Jslaedt Jsids -v -
the questions: Ay (S8 il y

Write what do the numbers (1) & (2) refer t0 | (v) (1) oled 1 4t jccs Lo S|

and Describe them. I Lagilisa 55

15
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m Write the number which expresses each | :(y Ss Gle J1at @331 Las) -

of the following: §39-Let AL LH ygl om0 3o -
a- Number of axes in hexagonal crystal ool
system. .

gs,ajt L):‘M‘Cy M -

b- The hardness of streak plate.

m Study the given figure and answer the questions: ‘ o @ YL JSEI (ual - Y'Y

a- What is the name of this igneous texture? | o2 ¢ suall grwid! i gl Le -

b- What is the type of rocks that is Ta Ll Hgdall Wl
characterized by this texture and color tone? | 46 sz gl Hp3uall g g0 Lo -
Soelt 19 &«.u.’d‘
16
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m Compare between:
The primary and secondary seismic waves in
terms of speed and propagation medium.

1o (b3 Yy

A ¥ As ol 218501 Sl gl
EPPNILL (P WERNUP V(35S [T ESON 4]
QLAY g Ao puad | o (g0

m Justify: e -Y¢
Formation of spheroidal shells on the surface | plaw e JSatt 49,8 ;58 (gs3
of granite. RO {

17
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E Choose the correct answer: + Aovouall Al W1 ) YO
The highest energy level of foodisin ........ | ...... o2 £1all Wl Ggiue el ua g
@  Fish ateattt D
@ Crustaceans. Ol ydal @
@ Phytoplankton. LGl Olestgt @
@ Protozoa. AG gt 1 OLA oY @

m Choose one question of (A) or (B) and | : (<) i (1) (1 awdt di it -¥%

mention what would happen: rde Crdomy 13Le

a- Bending layers with younger ones in the | cuss Gladall 3 sL&) &g -
center. S pedl o2 Lghus T (39S

b- Rocks affected by two normal faults | (usle  (udtlas Hssuall a6 -0
sharing the same foot wall. RETIR (N PN [YFRRE JOINORS

E What would happen? e G 13ke TV

If wheat is planted in October and R8T G el B edll Olo Asly)

November? . aB gl

18
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m Justify: 1l Let Jle -YA
Streak is a reliable property for mineral | iiols e 5,08 Ay slaie ¥
identification. LOalaadl Gle B il 8 el

m Mention the similarities and differences FCIA L

between: 1000 JS (e RO N1 g Al A g
Longitudinal dunes and coastal dunes. et Lt | OLEST g 39 pad
19
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m Study the given figure then answer the | (e cof @d SYLI 1 JSEIN uyaf - £

following questions: s AT L Al
®
3 % “’\“plk
O,J/\ =Y. A /\“\—L: ®
2/ Kﬁ/m ikﬁ—{‘nﬁ L ml

a- Write the labels (1) & (4) ‘ (£) (V) Sbledt cas |

b- Mention the type of tectonic plate | aagsidl aS,=I1 g9 mdg-u

movement in the figure. ISt b Aad
c- Give an example for the structure no (3) (1) caS 51 e LS| d

20
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m Mention the ways of adaptation of the | - 2 &1 oo aay cS) - £
following organisms: 1 A SLAISY

a- Deep-water organisms. .Blee ¥ Sl g
b- Fennec fox. it cdal —o
m What is meant by: celaiatt o Ly s gundali Lo ~£ Y

Organized grazing.

m Choose one question of (A) or (B) and | :@3 (<) of (1) sttt dsf it -8 ¥
replace sentence with suitable scientific 1ole JIA (pelal) mikaael| LS|
term: oo 095 plagl! dedy Blay |

a- zoneinthe upper mantle consists of partially | HLaiil mews Zaile Lud Hgoe
molten and elastic rocks that allow spread RPN ([ PIPH
of convection currents. O Aadigall jgiuall (po GLE —u

b- Crushed angular clasts associating faulting. 331928 Comliald Bal> 2l g

21
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m Choose one question of (A) or (B) and | :a3 (<) of (1) ot gudt iyt - £ ¢
choose the correct answer: s Aol Al ¥ i
a- Dolomite which found in Earth’s crust is |3 ,aat! 2 3ss gatt o g3 gt i

oneof ............ group | 4 gan (pais o )Y
@ silicates RSP { @
@ sulphates Ol s @
@ carbonates Ol g3 S @

@ oxides S @

b- The main criterion in definition of mineral | $a Oasedf Cay paid ulu ¥ Gad )~
that it is 458

........

@)  metal SO
@ non-metal Sy @

@ liquid substance AL 33Le @
@ crystallized substance .5 ylie 53le @

m Choose one question of (A) or (B) and | :adecais (o) o (1) pdigudt dsi yini -£0
explain: NS

a- Sea level has a great importance. 530S ol g3yl el (6 giuwe |
b- The faults differ from joints inspite of they s 0 s i3y 311920 ol -
are fractures in the earth’s crust.

o 315 a1 3 108 Lagd oS
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